¥ZOO€98SL28"«

© OCR 2020 [601/8123/0]
DC (ST) 192767/4

OCR

Oxford Cambridge and RSA

Friday 13 November 2020 — Morning

GCSE (9-1) Classical Greek
J292/04 Verse Literature A

Time allowed: 1 hour

Do not use:
« adictionary

A =g = = = (=) 4 -

4 N

Please write clearly in black ink. Do not write in the barcodes.

Centre number Candidate number

First name(s)

Last name

- /

INSTRUCTIONS

* Use black ink.

» Write your answer to each question in the space provided. If you need extra space use
the lined pages at the end of this booklet. The question numbers must be clearly shown.

* Answer all the questions.

INFORMATION

* The total mark for this paper is 50.

* The marks for each question are shown in brackets [ ].

* Quality of extended response will be assessed in questions marked with an asterisk (*).
* This document has 12 pages.

ADVICE
* Read each question carefully before you start your answer.

OCR is an exempt Charity
Turn over



2

Answer all the questions.

1 Read the passage and answer the questions.

avTaQ Enel kOouNOev &R’ 1 yepovecoy £€kaaol,

Toweg pev kKAayyn v évorn v loav 0pviOeg @g,

NUTe eQ KAAY YN YEQAVWV TéAeL 0VEAVOOL TEO,

al U émel o0V XelHwva GUyov Kal aBéodatov Oppoov
KAayyn) tal ye métovtat e’ Qkeavolo Qodwv 5
avoodot [Tuypaiowot povov kal knoa pegovoat:

Néolat O’ &pa tal ye Kaknv £00a moodEQovTaL.

Homer, lliad 3, lines 1-7

(a) avtap ... Eékaotol (line 1): what preparations were made by each side?

.............................................................................................................................................. [2]
(b) Homer tells us the Trojans advanced like cranes.
(i) ait émet... 0upoov (line 4): what are the cranes fleeing from?
...................................................................................................................................... [2]

(ii) Tal ye ... moopépovtar (lines 5-7): what does Homer tell us about the flight of the
cranes? Make two points.
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2 Read the passage and answer the questions.

avtika O €€ 0xéwv oLV Tevxeov dATo Xapacle.

TOV 0’ WG 0LV évonoev AAEEavdROg Oeoeldr)g

&V mooudxoLloL pavévta, kKatemAyn Gpidov 1too,

a O Etdowv elg €0vog Exaleto kNO' AAgelvav.

wg O’ brte Tic Te dpdrovTa WV TAALVOQOOG ATTéoTn 5
oVpeo¢ &V PBrioomg, DO te TEOHOC EAAaPe Yy,

a O Avexwonoev, OX00S Té pLV elAe TaQELAS,

WS avTIS KB’ Sdov €dv Towwv ayeQwxwv

detoac Atpéog viov AAEEavdEOg Oeoeldr|c.

Homer, lliad 3, lines 29-37

(@) (i) avtika ... xapale (line 1): what did Menelaus do?

...................................................................................................................................... [2]
(i) watemAnyn ... kN’ dAeeivwv (lines 3—4): how did Paris react?
...................................................................................................................................... [2]
(b) g & 6te ... Oeoedr|c (lines 5-9): how do these lines emphasise the fear felt by Paris?
You should make two points, each supported by close reference to the Greek.
[4]
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3* Read the passage and answer the question.

T To1600e WV &V TOVTOTOQOLOL VEeTTL

TIOVTOV ETUTAWOAC, ETAQOLG £0inoag ayeloag,

px0elg aAAodamolot yovaik” eVedé” dvnyeg

€€ aming yaing, vvov avdowv alxuntdwy,

Tl Te 0@ HEya mpa OANT te mavti te dMNuw, 5
dLOHEVEDTLY HEV XAQMa, KaTtndelny 0 ool avtw;

oUK av 1 peivelag agnipirov MevéAaov;

yvoing X’ olov pwTog €xels OaAeQn v mapdkoltLv:

OoVK &V Tot Xpaloun kiBapis t& te dw’ Adoditng,

1] 1€ KOUN TO TE €1dOC OT év Kovinot pryeing.” 10

Homer, lliad 3, lines 46-55

How does Hector convey his frustration with Paris in this passage?
In your answer you may wish to consider:

* the poor judgement Paris has shown in the past
. Paris’ reluctance to face Menelaus

You must refer to the Greek and discuss Homer’s use of language. [8]
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4 Read the passage and answer the questions.

‘OmmdTeQoC O¢ Ke VIKNOT) KQeloOWYV TE YévnTaL,

KTNHaO” EAwVv €0 mavta yvvaika te oikad’ dyéoOw:

oL 0" dAAOL PLAGTTA KAl GOKLA TILOTA TARLOVTES

valorte Tooinv éoiwAaka, Tol d¢ veéoBwv

Apyog & inméBotov kat Axatida kaAAryvvaikoa. 5

Homer, lliad 3, lines 71-75

(@) Who is speaking in this passage?

(b) ommoTeQog ... ayéoOw (lines 1-2): what would the prizes be for the winner of the duel?

(c) ot d &Aldot ... kaAAryVvvauka (lines 3-5): why do you think both armies might be happy with
the outcome described here?
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Read the passage and answer the questions.

‘loxecd’, Agyeiol, un PaAAete kovpol Axatwv:
OTEVTAL YAQ TL €110G €0éety kopuOaioAog "Extw.
@G £dald’, ol 0’ €0XOVTO HAXNG Ave T €yEVovTo
€00VUEVWGS: ‘BT 0¢ pet’ apdotégoloty Eetme:

Homer, lliad 3, lines 82—85

(a) loxeoO ... "Extwo (lines 1-2): how does Agamemnon show his respect towards Hector?
Explain your answer with reference to the Greek.

(b) g épab’ ... Eeimte (lines 3—4): write down and translate a Greek word or phrase which shows
that the Achaeans obeyed Agamemnon.

Greek word/phrase:

English translation:
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Read the passage and answer the question.

“KEKALTE VOV KAl EUELD" HAALOTA YAXQ AAYOC IKAVEL
Oupov Euov, Gppovéw d& diakLvOTpeva on
Apyelovg kat Towag, émet kKaka moAAx TémaoOe
elvex’ éung €owog katl AAdeEavdgov évex” apxng:’

Homer, lliad 3, lines 97-100

Translate this passage into English.
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7 Read the passage and answer the question.

‘oloete AV, €TEQOV AeVKOV, ETEQNV D& HEAQLVAY,

I'n) te kat HeAlw: Au & 1jueig oloopev &dAAov-

a&ete d¢ ITowxpoto Binv, 6" doKrx TApVN

avTog, émel ol madeg DmepPlaAoL Kat &roTot,

ur tic vepPaoin Aog 6ok dnAnontat” 5
Translation:

‘Bring a pair of lambs, one white and the other black,

for Earth and Sun; we shall bring another for Zeus;

bring mighty Priam, so that he can seal the oaths himself,

since his sons are arrogant and untrustworthy,

so that nobody shall spoil the oaths of Zeus with a transgression.’

Homer, lliad 3, lines 103—-107

How does Menelaus emphasise the seriousness of the oaths?

You should make two points, each supported by close reference to the Greek.
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8* ‘It is difficult to admire anything about Paris.” How far do you agree?

You should support your answer with a range of references to the section of /liad Book 3 you have
read, and you may include passages printed on the question paper. [10]

© OCR 2020



END OF QUESTION PAPER

© OCR 2020



12
ADDITIONAL ANSWER SPACE

If additional space is required, you should use the following lined page(s). The question number(s)
must be clearly shown in the margin(s).
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